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1. A soundly developed conceptual framework of concepts and objectives

should

a. increase financial statement users' understanding of and
confidence in financial reporting.

b. enhance comparability among companies' financial statements.

c. allow new and emerging practical problems to be more guickly
soluble.

d. all] of these.

2. The twe primary qualities that make accounting information useful
for decision making are
a., comparability and consistency.
'b. materiality and timeliness.
c. relevance and reliability.
d. reliability and comparability.

3. The characteristic that is demonstrated when a high degree of
consensus can be secured among independent measurers using the same
measurement methods is
a. ralevance.

b. reliability.
c. verifiability.
d. neutrality.
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The financial statements of Brown, Inc. fﬂE 1998 and 199% contained
the following errors:

1998 1999
Ending inventory $6,000 overstated $B,000 understated
Insurance expense 2,400 understated 3,300 overstated

4. Assuming that none of the errors were detected ox corrected, by what
amount will 1998 income before taxes be overstated or understated?
a. $3,600 understated
k. %3,600 overstated
c. $8,400 overstated -

d. 58,400 understated

5. Assuming that none of the errors were detected or corrected, by what
amount will 1999 income before taxes be overstated or understated?
a. 517,300 understated
b. %14, 900 understated
c. 54,700 understated
d. 54,700 overstated

6. Which of the following post-balance sheet events would generally
require disclosure, but no adjustment of the financial statements?
a. Retirement of the company president .

b. Settlement of litigation when the event that gave rise to the
litigation eccurred prior to the balance sheet date

<. Employee strikes

d. Issue of a large amount of capital steck
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7. Which of the following subsequent events (post-balance sheekb events)
would require adjustment of the accounts before issuance of the

financial statements?

a, Loss of plant as a result of fire
b. Changes in the guoted market prices of securities held as an

investment
¢. Loss on an uncollectible account receivable resulting from a

customer's major [lood loss _
d. Loss on a lawsuit, the outcome of which was deemed uncertain at

yaar and

8. In preparing a statement of cash flows, sale of treasury stock at
an amount greater than cost would be classified as a(n)
a. operating activicty.
b. financing activity.
c. extracrdinary activity.

i T e e e s

On February 1, 1998, Norton Company factored receivables with a
carrying amount of $100,000 to Koch Company. Koch Company assesses a
finance charge of 3% of the receivables and retains 5% of the
receivables. Relative to this transaction, you are to determine the
amount of loss on sale to be reported in the income statement of

Norton Company for February. T

9. Assume that Norton factors the receivables on a without recourse
basis. The loss to be reported is

a. %0.

b. $3,000.
e. $5,000.
d. $8,000.

10. Assume that Norton factors the receivables on a with recourse basis.
The racourse obligation has a fair value of 51,000, The loss to be

reported is

a. £3,000.
b. 54,.000.
c. $5,000.

d. $9,000.
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The Following information was available from the inventory records
of the Karl Company for January:

Units Unit Cost Total Cost
Balance at January } 3,000 $9.77 $29,310
Purchases:
January 6 2,000 10.30 20, 800
January 26 2,700 10.71 28, 917
Sales:
January 7 {2,500)
January 31 (4,000}
Balance at January 31 1,200
—

11. Ass=uming that Karl does NOT maintain perpetual inventory records,
what should be the inventory at January 31, using the weighted-
average inventory method, rounded to the nearest dollar?

a. §12,606. '
b, 512,6284.
S 312; 312.
d. $12,432.

12. Assuming that Karl maintains perpetual inventory records, what
should be the inpventory at January 31, using the moving-average
inventory methoed, rounded to the nearest dollar?

a, $12,606.
b, 512,284,
c. 512,312,
d. $12,432.

13. Dean Co. uses the retail -Ainventory method to estimate its inventory
for interim statement purposes. Data relating to the computation of
the inventory at July 21, 1334, are as follows:

Cost Retail
Inventory, 2/1/98 & 200,000 $ 250,000
Purchases ' 1,000,000 1,575,000
Markups, net _ 175,000
Sales . 1,750,000
Estimated normal shoplifting losses ' 20,000
Markdowns, net : 110, 000

inder the lowar of cost or market method, Dean's estimated inventory
at July 31, 1998 is '

31 ETErDDt"l
b. §84,000.
c. $96,000.

d. $120,000.

(3% @40 4 0 B R A )
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14. Hart Company's accounting records indicated the follewing
information:
Inventory, 1/1/98 % 600,000
Furchases during 1298 3,000,000
Sales during 1998 3,800,000

15.

16.

17.

A physical inventory taken on December 31, 19%8, resulted in an
ending inventory of $700,000. Hart's gross profit on sales has
remained constant at 25% in recent years, Hart suspects some
inventory may have been taken by a new employee. At December 31,
1998, what is the estimated cost of missing inventory?

a. $50,000. '

b. $150,000.

c. $200,000.

d. $250,000,

Which of the folliowing assets do NOT gualify for capitalization of

interest costs incurred during construction of the asseta?

a. Assets under construction for an enterprise’s own use.

b. Assets intended for sale or lease that are produced as discrete
projects.

c. Assets financed through the issuance of long-term debt.

d. Assets not currently undergoing the activities necessary to
prepare them for their intended use. -

Rich Co. exchanged similar nonmonetary ;ssets with Wall Co. No cash
was exchanged. The carrying amount of the asset surrendered by Rich
exceeded both the fair value of the asset recelved and Wall's
carrying amount of that asset. Rich should recognize the difference
between the carrying amount of the asset it surrendered and

a. the fair value of the asset it received as a loss.

b. the fair value of the assekt it received as a gain.

c. Wall's carrying amount of the asset it received as a loss.

d. Wall's carrying amount of the asset it received as a gain.

In 1998, Donald Corporation incurred research and development
coasts az follows:

Materials and eguipmenkt 5 80,000
Personnel 12G,9000
Indirect costs 150,000

$350,000

R ——

These costs relate to a product that will be marketed in 1999. It is
estimated that these costs will be recouped by December 31, 2001.
The eguipment has no alternative future use. What is the amount of
research and development costs that should be expensed in 19987

a. $0. .

b. 5200,000.
c. $270,000,
d. $350,000.

273 D4
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18. The intangible asset goodwill may be
a. capitalized only when purchased.
b. capitalized either when purchased or created internally.
€. capitalized only when created internally.
d. written off directly to retained aarnings.

19. Which of the follewing sets of conditions would give rise to the
accrual of a contingency under current generally accepted accounting

principles?

a&. Amount ¢f loss is reasonably estimable and event occurs
infrequently. '

b. Amount of lossz is reasonably estimable and cccurrence of event is
probable.

c. Event iz unusual in nature and occurrence of event is probable.
d. Event is unusual in nature and event occurs infrequently.

20, Mike Ward is a farmer who owns land which borders on the
right-of-way of the Worthern Railroad. ©On August 10, 1998, due to
the admitted negligence of the Railread, hay on the farm was =et on
fire and burned. Ward had had a dispute with the Railroad for

. feveral years concerning the ownership of a small parcel of land.
The representative of the Railroad has offerad to assign any rights
which the Railrcad may have in the iland to Ward in exchange for a
telease of his right to reimbursement for the loss he has sustained
from the fire. Ward appears inclined to accept the Railroad's
offer. The Railroad's 1998 financial statements sheould include the
fellowing related to the incident:

a. recognition of a loss and creation of a liability for the value
cf the land.

b. recognition of a loss only.

€. creation of a liability only.

d. disclosure in note form only.

2l. Under the completed-contract method )

a. revenue, cost, and gross profit are recognized during the
production cycle. '

b. revenus and cost are recognized during the production cycle, but
gross profit recognition is deferred until the contract is
completed.

©. revenue, cost, and gross profit are recognized at the time the
contract is completed, .

d. hone of these.

22. The principal disadvantage of using the percentage-of-completion
method of recognizing revenue from long-term contracts is that it
8. iz unacceptable for income tax purposes.
b. gives results based upon estimates which may be subject to

considerable uncertainty,
¢. is likely to assign a small amount of revenue to a period during

which much revenue was actually =sarned,.
- d. none of these.
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on Januvary 1, 1998, Pine Corporation signed a ten-year noncancel-
able lease for certain machinery. The terms of the lease called for
Pine to make annual payments of 580,000 at the end of each year for
ten years with title to pass te Pine at the end of this pericd. The
machinery has an estimated useful life of 15 years and no salvage
value, Pine uses the straight-line method of depreciation for all
of its fixed assets. Pine accordingly accounted for this lease
Fransaction as a capital lease. The lease payments were determined
to have a present value of §536,806 at an effective interest rate of
B%. With respect to this capitalized leaze, Pine should record for
1998

a. lease expense of 380,000.
b. interest expense of $35,787 and depreciation expense of 530,454,

c. interest expense of $42,%44 and depreciation expense of $35,787.
d. interest expense of $36,544 and depreciation expense of 553,681
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on January 1, 19298, Aaren, Inc. signs a 10-year nopncancelable lease
agreement to lease a storage building frem the Frost Warehouse
Company. Collectibility of lease payments is reasonably predictable
and ne important uncertainties surround the amount of costs yet to
be incurred by the lessor. The following information pertains to

this lease agreement.

24.

25.

{a) The agreement requires equal rental payments at the end of
each year. *

(b} The fair value of the building on Japuary 1, 1998 is
£600, 000; however, the book value to Frost is $300,000.

(c} The building has an estimated economic life of 10 years, with
no residual value. Aarcn depreciates similar buildings on the
straight=line method. .

{dY At the termination of the lease, the title to the building

will be transferred tc the lessee.

{e) haron's incremental borrowing rate is 8% per year. The Frost

Warehouse Co. set the annual rental to insure a 10% rate of
return. The implicit rate of the lessor is known by Raron,

Inc.
(£} The yearly rental payment includes 52,000 of executory costs

related to taxes on the property.

What is the amount of the minimum annual lease payment? {Rounded to

- the nearest dollar.)

a. §37,8647.

b. 595,647,

c. $97,647.

d. 599,647.

What is the amount of the total annual lease payment?
a. $37,647. .

b. $95,647.

c. 597,647,

d. $99,847.
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